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Activity Booklet 6 

‘Greater Depth’‘Greater Depth’



Extra Challenge: Substitute your own values for a and b in each formula. Can you calculate 
the value of c in each formula?

Activity 1.1 Talk Maths

Look carefully at the superhero formulas and the bar models.

Can you match each superhero to the correct bar model?

Explain your reasoning. 

a a a

?

? b

c

2a + b + 12 = c

c

a a a b

c

12 b a a

a a

(12 + b) c

3a + b = c

2a - (12 + b) = c

3a ÷ 12 + b = c
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Activity 1.2 Guided Maths

Look carefully at these SATs-style questions involving expressing 
missing number problems algebraically.

•	What do we have to do to answer the question?

•	What important information do we have to identify?

1. Here is an equation.

a. Find the value of a when b = 5.6.

b. Find the value of b when a = 107.

2. Here is a rule for the time it takes to cook an apple pie.

Cooking time = 15 minutes + 5 minutes  
for 500g of chopped apple

How many minutes will it take to cook a pie which uses 1.1kg of chopped apple?

minutes

3. Each shape stands for a number.

a = 25 + 4b

Work out the value of each shape.

22.5

31

=

=
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Activity 1.3 Independent Maths

1. Here is an equation.

a) Find the value of a when b = 25.

b) Find the value of b when a = 67.

2. Here is a rule for the time it takes to cook an apple pie.

Cooking time = 15 minutes + 10 minutes for  
each 500g of chopped apple

How many minutes will it take to cook a pie which uses 0.8kg of chopped apple?

minutes

Work out the value of each shape.

Have a go at solving these SATs-style problems.

a = 40 + 3b

=

=

103.5

100
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Activity 1.4 Assess and Review

Colour in the superhero strength-o-meter 
to show how you feel about your maths:

Can you solve missing number problems?

Can you substitute values into an equation to 
solve algebra problems?

Can you use simple formulas?

1.	 In this diagram, each shape stands for an unknown number. Calculate the value of 
each shape:

Look at this incorrectly completed SATs question.

•	What is the important information to identify?

•	How is it best to work out the answer?

•	What advice would you give to the child who completed this question?

= 96

= 115 = 

= 

32

25
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4 14 17 10 6
15 9 1 8 11
7 18 16 20 3
2 12 19 5 13

2a + b = 20

3c - d = 12

4e ÷ f = 2

Activity 2.1 Talk Maths

Extra Challenge: Can you find all the possible pairs of numbers that satisfy the equations?

Look carefully at the numbers on the superhero badges.

Find pairs of numbers that satisfy the following three equations.
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Activity 2.2 Guided Maths

Look carefully at these SATs-style questions involving finding pairs of 
numbers that satisfy an equation with two unknowns.

•	What do we have to do to answer the question?

•	What important information do we have to identify?

2. Complete the table showing pairs of numbers that satisfy this equation:

4a + 2b = 48

a = 2 3 4 5 6

b = 20

1.	 a stands for a number in row 1.

	b stands for a number in row 2.

	Join all pairs of numbers that satisfy this rule:

5a + b = 100

Row 1 10 11 12 13 14

Row 2 45 30 35 40 50

visit twinkl.comPage 7 of 21



Activity 2.3 Independent Maths

Have a go at solving these SATs-style problems.

1. 	 a stands for a number in row 1.

b stands for a number in row 2.

Join all pairs of numbers that satisfy this rule:

a + 6b = 60

Row 1 6 12 18 24 30

Row 2 8 5 9 6 7

2.	 Complete the table showing pairs of numbers that satisfy this equation:

2a + 7b = 53

a = 2 5.5 9 12.5 16

b = 7
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Activity 2.4 Assess and Review

Look at this incorrectly completed SATs question.

•	What is the important information to identify?

•	How is it best to work out the answer?

•	What advice would you give to the child who completed this question?

Colour in the superhero strength-o-meter 
to show how you feel about your maths:

Can you solve missing number problems?

Can you substitute values into an equation to solve 
algebra problems?

Write the missing number in each pair to satisfy this equation: 

96

81

45

a + 3b = 100
	 When a = 4,	 b =  

	 When a = 19,	 b = 

	 When a = 55,	 b = 
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Extra Challenge: Can you draw a diagram to show what happens when you multiply 
fractions together?

For example, 

Activity 3.1 Talk Maths

Have a go at solving these SATs-style problems.

Choose a fraction from the left-hand column and a fraction from the right-hand column.

Can you multiply the fractions together?

Can you simplify the answer where possible?

  

  

  

  

  

2
3

2
5

4
5

1
6

5
6

2
7

3
7

3
8

5
8

2
3

2
5

4
15

7
10

   ×   = 
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1.	 One fruit smoothie contains 4
7  of a carton of orange juice. I make 8 smoothies. Calculate 

how many cartons of orange juice I use altogether. Give your answer as a mixed number.

2.	 I grow vegetables in my garden. 5
9  of the vegetables grow underground. Of these 

underground vegetables, 3
8  of them are potatoes. What fraction of all the vegetables 

are potatoes?

3.	 I use 6
11 of a tub of ice cream to make 7 ice cream sundaes. What fraction of the tub of 

ice cream does each sundae contain? 

Activity 3.2 Guided Maths

Look carefully at these SATs-style questions involving multiplying 
and dividing fractions.	

•	What do we have to do to answer the question?

•	What important information do we have to identify?

cartons

potatoes 

tub
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Activity 3.3 Independent Maths

Have a go at solving these SATs-style problems.

1.	 One fruit smoothie contains 7
10 of a carton of orange juice. I make 12 smoothies. 

Calculate how many cartons of orange juice I use altogether. Give your answer as a 
mixed number.

2.	 I grow vegetables in my garden. 9
12 of the vegetables grow underground. Of these 

underground vegetables, 4
9  of them are potatoes. What fraction of all the vegetables 

are potatoes?

3.	 I use 7
12 of a tub of ice cream to make 9 ice cream sundaes. What fraction of the tub of 

ice cream does each sundae contain? 

cartons

potatoes 

tub
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Activity 3.4 Assess and Review

Colour in the superhero strength-o-meter 
to show how you feel about your maths:

Can you multiply simple pairs of proper fractions, 
writing the answer in its simplest form?

Can you divide proper fractions  
by whole numbers?

Can you solve problems involving multiplying 
 and dividing fractions?

Look at this incorrectly completed SATs question.

•	What is the important information to identify?

•	How is it best to work out the answer?

•	What advice would you give to the child who completed this question?

1.	 Complete this calculation:

3 5
6 14× =

9

2
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Activity 4.1 Talk Maths

Look at the different gemstones the superheroes have recovered.

Can you work out the mean average weight of the gemstones? Round your answer to the 
nearest tenth of a gram.

Can you work out the mean average value of the gemstones?

Weight: 12.32g

Value: £176

Weight: 20.41g

Value: £192

Weight: 13.95g

Value: £235

Weight: 15.79g

Value: £264

Weight: 16.87g

Value: £129

Extra Challenge: Can you convert the weight and price into a different unit of measure?  
For example, can you present the average weight in kilograms?
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Activity 4.2 Guided Maths

Look carefully at these SATs-style questions involving the calculation 
and conversion of units of both imperial and metric measures.

•	What do we have to do to answer the question?

•	What important information do we have to identify?

1	 Use the information to complete these conversions:

2.	 Last year, I went to six music concerts. Here are the distances that I travelled for 
each concert.

	 What was the mean distance travelled? 

23.45km 31.72km 52.98km 34.7km 20.75km 43.1km	

km

If 1 litre is approximately 1.8 pints,  
5 litres is approximately

 pints.

If 1 inch is approximately 2.5 centimetres, 
22 inches is approximately 

 centimetres.

If 1 mile is approximately 1.6 kilometres,  
7 miles is approximately 

 kilometres.

If 1kg is approximately 2.2lbs,  
15kg is approximately 

 lbs.

visit twinkl.comPage 15 of 21



Have a go at solving these SATs-style problems.

Activity 4.3 Independent Maths

1.	 Use the information to complete these conversions:

If 1 litre is approximately 1.8 pints,  
7 litres is approximately 

 pints.

If 1 foot is approximaley 30 centimetres, 4 
feet is approximately

metres.

If 1 mile is approximately 1.6 kilometres, 
11 miles is approximately

metres.

If 1kg is approximately 2.2lbs, 13kg is 
approximately

lbs.

2.	 Last year, I went to seven music concerts. Here are the distances that I travelled for 
each concert.

	 What was the mean distance travelled? 

23.26km 31.02km 52.50km 34.40km

20.88km 43.90km 40.58km

km
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Activity 4.4 Assess and Review

Look at this incorrectly completed SATs question.

•	What is the important information to identify?

•	How is it best to work out the answers?

•	What advice would you give to the child who completed this question?

Colour in the superhero strength-o-meter 
to show how you feel about your maths:

1.	 Rhys went to seven football matches last season. Three of the football tickets cost £24 
each and the rest cost £32 each. What was the mean cost of the tickets? Round your 
answer to the nearest pence.

£24 x 3 = £72

£32 x 4 = £128

£72 + £128 = £200

£200 ÷ 7 = £28.60

The mean cost is £28.60

Can you convert between miles  
and kilometres?

Can you solve problems involving the calculation and 
conversion of units of both imperial and metric measures?

Can you calculate the mean as an average?
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Activity 5.1 Talk Maths

Look at the different circular superhero badges. (Not drawn to scale.)  

Can you say the length of the diameter and the radius of each badge? 

Have a go at solving these SATs-style problems.

Extra Challenge: The circumference of a circle is approximately 3.14 times greater than the 
diameter. Can you use this fact to calculate the diameter of the badges, rounding answers to 
the nearest mm?

20cm20cm 7cm7cm

5.5cm5.5cm
30cm30cm

24cm24cm

9cm9cm

25cm25cm
2.5cm2.5cm

21cm21cm
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Activity 5.2 Guided Maths

Look carefully at these SATs-style questions involving parts of a circle.

•	What do we have to do to answer the question?

•	What important information do we have to identify? 

1.	 A tractor tyre has a radius of 0.58m. What is the length of four tractor tyres? 

2.	 This design is made up of 2 identical circles and a rectangle. Calculate the radius of the 
circle. (Not drawn to scale.)

3.	 A bike travels from a tree to a pond turning its wheels 24 times. The circumference of the 
bicycle wheel is 78cm. Calculate the distance from the tree to the pond in metres.

metres

metres

radius =               cm

50cm
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Activity 5.3 Independent Maths

Have a go at answering these SATs-style questions.

1.	 A tractor tyre has a radius of 0.93m. What is the length of five tractor tyres? 

2.	 This design is made up of 2 identical circles and a rectangle. Calculate the radius of the 
circle. (Not drawn to scale.)

3.	 A bike travels from a tree to a pond turning its wheels 33 times. The circumference of the 
bicycle wheel is 102cm. Calculate the distance from the tree to the pond in metres.

metres

metres

radius =               cm

58cm
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Activity 5.4 Assess and Review

Colour in the superhero strength-o-meter 
to show how you feel about your maths:

Can you solve problems knowing that the diameter of 
a circle is twice the radius and vice versa?

Look at this incorrectly completed SATs question.

•	What is the important information to identify?

•	How is it best to work out the answers?

•	What advice would you give to the child who completed this question?

1.	 This design is made up of six circles and one rectangle. Each circle has a radius of 
9.5cm. Calculate the perimeter of the rectangle in metres. (Not drawn to scale.)

metres9.5

length = 9.5 x 3

width = 9.5 x 2

(28.5 + 19) x 2 = 95cm
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